
GENERADOR SPS1000 
CODIGO

SPS1000
1 SH152FD-1162006 Condensador 13 MF 1
2 GB5789-86 Tornillo M6×10 8
3 SH152FD-1161100 Tapa derecha 1
4 SH152FD-1161200 Tapa aceite 1
5 SH152FD-1162005 Terminal 12V (+) 1
6 SH152FD-1162005 Terminal 12V (-) 1
7 SH152FD-1162004 Fusible CC 1
8 SH152FD-1162004 Fusible CA 1
9 GB823-88 Tornillo M4×8 2

10 SH152FD-1162002 Conector CA 1
11 SH152FD-1162003 Interruptor 1
12 SH152FD-1162001 Lampara 1
13 SH152FD-1160003 Tapa bujía 1
14 SH152FD-1070001 Protector combustible 1
15 SH1P60F-1070100 Tapón depósito 1
16 SH152FD-1070006 Clip （I） 4
17 SH152FD-1070007 Tuberia combustible （I） 2
18 SH152FD-1070101 Unión tuberias 1
19 SH152FD-1070009 Clip （II） 2
20 SH152FD-1070010 Protector tubería 1
21 SH152FD-1070100 Tuberia combustible（II） 1
22 SH152FD-1070200 Filtro tuberia combustible 1
23 SH152FD-1070002 Depósito de combustible 1
24 SH152FD-1070005 Clip “U” deposito combustible 2
25 GB823-88 Tornillo M4×12 2
26 SH152FD-1070300 Filtro entrada combustible 1
27 SH152FD-1080100 Conjunto aislante 1
28 SH152FD-1100100 Junta escape 1
29 SH152FD-1100004 Tobera escape 1
30 GB6177 Tuerca M6 6
31 SH152FD-1100200 Junta silenciador 1
32 SH152FD-1100002 Esparrago M6×55 2
33 SH152FD-1100003 Conjunto silenciador 1
34 SH152FD-1160002 Tornillo M6×75 1
35 SH152FD-1160001 Tapa izquierda 1
36 GB823-88 Tornillo M5×10 3
37 SH152FD-1100001 Protector silenciador 1
38 GB818-2000 Tornillo M5×10 4
39 SH152F-1000000 Motor 1
40 GB823-88 Tornillo M4×6 2
41 SH152FD-1151001 Escudo 2
42 SH152FD-1151003 Carcasa alternador 1
43 GB5789-86 Tornillo M8×20 4
44 SH152FD-1151100 Conjunto rotor 1

REF. N CANTIDADDESCRIPCION



GENERADOR SPS1000 
CODIGO

SPS1000REF. N CANTIDADDESCRIPCION

45 SH152FD-1151200 Conjunto stator 1
46 SH152FD-1151300 Aro alternador 1
47 SH152FD-1151002 Tapa trasera alternador 1
48 SH152FD-1151003 Tornillo M6×110 3
49 GB16674-1996 Tornillo M6×10 3
50 SH152FD-1081201 Abrazadera 1
51 SH152FD-1150004 Conjunto diodo 1
52 GB6177 Tuerca M8 4
53 SH152FD-1151006 Tornillo M8×160 1
54 SH152FD-1163100 Conjunto base 1
55 SH152FD-1163200 Silenblocs 4
56 GB5789-86 Tornillo M6×10 4

C073 AVR 1






